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5&5&1&5}'5{28 % 2 marks)
For quastions 1 io 28, chooss the most suitable answer and shade its number {1, 2, 3 or 4}
on the Oplical Answer Shest {OAS) provided.

1. Siudy the flowchart given bslow.

gseari?

{
. - b S 2k imfe s
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\

.

goidiish

Which of the following is comect?

Question P Question O
{1} Does it have gilis? Dosas it have scales?
{2} Does it have scales? Doss it have gills?
(3) Is it a fish? Does it have scates?
{4} isltaiish? Does it have gills?




2. The diagram below shows a cooking pot with a handle.

Study the properties of the four materials shown below.

Matedtad Property of material
Does it bend easily? Does it conduct heat easily?
A yes yes
B yes no
c no yes
D no no

Which material is most suitable for making the handle?

(1
(2
@)
(4)

OO w >
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8. Mandy constructed Bwee alectromagnets with identical batissies and iron rode 2
shown below.

=
—
-
=
—
o
i

ron rad A fron rod B Ironrod C

She placed sach of e iron rods an equal distance away from a tray of identical stesl
pins and counted the number of steal pins atiracied by the Iron rods.

Which of the graphs comectly shows the nesults of her experiment?

(N (2}

Number ¥ Number

of pins of pins.

atiractad atiraeted

(3) (4) .
Number 4 Number 7

of ping — of pins

attracted
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4. Ametal bar, PQ, Is fresly suspended on a piece of string. It was spun and It cama fo
rest with one end of the bar pointing o the North. It was spun a second time and
agaln, the same end of the bar came to rest pointing to the North.

Another bar RS, made of the same metal, was also freely suspended and then spun
a few timss, Hnww,ﬁuebarcamalof&ﬂhnopmﬁwlardkecﬁonmdwﬁmaaﬁer
it had bsen spun.

P'Q\::g és
Norihnn._\ La R

What would most likely happen if the two bars are brought near to each other?

(1) End P attracts S but repels R.

(2) End P repels S but atiracts R.

(3) End P atiracts neither S nor R.

(4) Bothends P and Q attracts end S,

5. The diagram below shows the human digestive system,

At which part is digested food absorbed into the bloodstream?

() A
{2) B
@ c
@ D '

Sc/P5!CAlSecion Af2017{ Page 4 M 19



6. Suefilleda syringe with gas Y,

plungss

push —s flms

syringe with gas Y
She pushed the plunger in ag hard as she could.

How would the volume and mass of gas Y be affected by the pushing of the plunger?

volums mass
{1 decrease decrease
(2) decrease unchanged
(3) unchanged decrease
(4) unchanged unchanged

7. Ahmad placed three objects, J, Kand L, into thres identical beakers as shown bolow.
He added water to each of the beakers and the water levelg in tha three beakers were

the same.
- I

beaker E beaker beaker G
(withobjectd)  (withobjectK)  (with object L)

He removed the objects from the water. The diagram below shows the wator leval In
the three beakers.

beaker E

Which of the following shows the comrect order of the objects starting from the
smallest volume to the graatest volume?

N K §, L
@ K, L, J
@ J,L, K ‘
@ L, J, K
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8.  The dlagram shows the life cycle of a butterfly,

Which of the following graphs comrectly represents the mass of the butterfly during its
stages of the life ¢ydle?

1 (2)
. A 3
mass of & mass of
butterfly butterfty.
0 number of days - 0 number of days ]
(3) (4)
F 3
e by
butterfly ariy
O number of days 0 nember of days
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9.  Maya wanied to find out how much Bight can pass through thres matsrials, A, B and
C, byuskIgtheset-upshwmbalmv.Thaamomtoﬂlghtdetactadbymssensnrwas
racordad. She conducted the experiment Ih a dark room:.

torch

I

material

s8nsor

The results of the experiment are shown I the tabie below.

Type of material Amount of light detected (units)
Without material 5000

A ‘ 0

B 4800

C 2560

Which type of glass Is most sultabls o meke the lens of a pair of reading glassss and
a pair of sunglasses?

M
(2)
3
4

Reading glasses Sunglasses
c A
B A
B C
c B
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10. Aglmwntdmmamdicaandsmmmterwas placed In a room.
The room temparature was 25°C.

11.

ice at0°C

water al 0°C

When the ice and the water were at 0°C, which of tha following statements is
commect?

0
(2}
(3)
(4)

The ice wouid not melt as it remained at 0°C.

The ice wauld not melt as it did not gain heat.

The ice would melt ag it gained heat from the water.

The Ice would melt as it galned heat from the surounding air.

Bala conducted an experiment. with a datalogger and two temperature sensors, P
and Q. The ends of the sensors were covered with cloth.

P was kept dry. Q was dipped in water at room temperature for 2 seconds and then

taken out,
connecied to datalogger
sensorP sensor Q
(dry cloth) {wet cloth)
Evary five minutes, the datalogger recorded the temperatures of the sensors and the
results are shown in the table below.
Time {min) 0 5 10 15
Temperature of sensor P (°C) 25 25 25 25
Temperature of sensor Q (°C) 25 23 22 22

The temperature of sensor Q was lower than room temperature because

&)
(2)
(&)
4

waler was evaporating from the wet cloth

the wet cloth conducted heat to the sensor
water vapour was condensing on the wet cioth
the wet cloth acted as a poor conductor of heat

Sc/P§iCA/Section A/2017 / Paga 8 oi 19



12. Cassandra wanted o give her mother an orange flowsr. She bought a stalk-of white

fiower and cut the stak into fwo before placing the stalk of flower into two beakers as
shown In the diagram below.

Cassandra leamt that mixing yeliow and red will produce orange.
Wil she obiain an orange flower at the end of the expasiment? Why?

Reason

(1) | Yes | Walsr in the water-camying tubes will combine in the stem,

(2) | Yes | The colourings will be mixed when they reach the white flower.

@ | Mo The iwo coloured waler are carmied by separate water-carmrying
tubes o the food colourings do not mix.

(4) | No | The roots have been removed. Rools take in water for the plant.

Sc/P5/CASacion AS2017 iPepoDof 10



13. Stomata are tiny openings found mosty on the underside of leaves. These opsnings
allow for gaseous exchange. The size of the stomata of plant X changes throughout
the day as shown in the table below.

Time Average size of stomata {units)
Sam. 1
11 a.m. 5
3p.m. 5
8 p.m. 1

Which of the following explains why the stomata changes in size?

(1) The size of the stomata increases to allow more sunlight to enler the plant for
photosynthesls.

(2) The size of the stomata Increases to allow more carbon dioxide to enter the
plant for pholosynthesis.

(3) The size of the stomata decreases to allow loss carbon dioxide to enter the
ptant for it fo produce snergy. P :

(4) The size of the stomata decreases to allow more oxygen to enter the plant for it
1o praduce energy.

3ci{P5/CA/Saction Al 2017 / Page 10'0f 19



14. The diagram bslow shows the heari with lis main blood vesssels, A, B, Cand D.

A _— t

$ B (o other parts of the
(from other paris body)
of the body) S,

C (1o the lungs)

" D (from the fungs)

Which of the blood vesssls caimy blood that is rich'in oxygen?
(1) AandC
{(2) AandD
(3 BandC
{4y BandD
15. Siudy the classification table below.
Circulatory System Resplratory System
" lungs nose '
heart gullet
blood blocd vessels

Which of the following have been wrongly classified?

A heart

B : lungs

C : gullst

D : blood vessels
(1) AandB
(2) CandD

(3) A,CandD only
{4) B, CandD only
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16. The diagram below can be used to identify parts, V, W, X, Y and Z, of a cell.

L

parts of a call

1

[_Is it present in both animal cells and plant cells? |

yes

no

Does it control activities within

the celi?

yes

Vv

no

Does it control
substances that
move in and out?

lyas lno

w X

k4

Does it enable the plant to
photosynthesiza?

yes

Which of the following cor: eetly represent parts V, W, X, Y and z7?

no

£

v W X Y Z
(1) nuclsus chloroplasts cytoplasm meni?)llfam call wall
(2) cytoplasm nucleus merﬁe;a - chloroplasts call wall
@) | oytoplasm | afb:ane chioroplasts | call wall nucleus
(4) nucleus mérﬁﬁﬂan & cytoplasm chlcroplasts cell wall

17.

Halim observed the following cell und

concluded that it is an animai cell.

Based on the diagram above, what

conclusion?

{1} lthas a céll wall.

(2) Ithas a nucleus.

(3) Ithas a cell membrane.
(4)

itis of an irregular shape.

Sc/P5/CA/Section Af 2017/ Page 12 of 10
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characteristic of the cell led Halim to make his




18.  The diagram below shows two puppies and their parenis.

Why do the puppies look like their parente?

A CGenstic Information was passed from the mother In an aggo.
8 ! Cenelic information was passed from the father in 2 sperm.
C . Genellc information was passed from the mother in her milk.
D : Genstic information u'uas passed from the mother in the blocd.
{(t) Aocnly
{2) Donly

(3) BoandConly
{4} AandB only

9. Jing Ting conducted an expesiment o find out the conditions required for germination
of seeds. '

Which ssad would most likely germinate?

() E
2) F
3) ¢
(4) H

Bc/PS/CAfSection A/ 20171 Paga 13 of 19



20, The diagrams bslow show three fruits, P, Q and R.

Which of the following correctly matches the methods of dispersal of P, Q and R?

P § Q R
(1) animal wind splitting of fruit
{2) animal water wind
(3) wind animal - splitting of fruit
(4) wind animal water

21. The diagram below shows the reproductive parts of a human and a piant,
respectivaly.

Based on the diagrams, which are the parts that contain the female reproduclive
cells?

(1) PandX
(2) PandY
(3) RandX
(4 RandY

SciP5/CA Secion AT2017 JPage 14%f 19



22. The lable bslow shows the states of three different substancss, W, X and Y, at

various temperaturss.
State of substance at ]
subelvice 350 50°C 75°C
W soid - flquid
X sofid liguid T ges
Y i sofid solid solid

Which of ihe following statements isfare definitoly true?

A Whoilsat75°C.
B : Xisasoldatapeg,
C ! Yhas the highest freszing point.

{1) Conly

{2) AeandBonly
{3) BandConly
(4 A BandC

23. The diagram bslow shows a developing baby and the movement of bload i and ouf
of the baby through the umbilical cord.

part X

umbiical cord
{connected to mother)

Which of the following about the blood in blood vessels A and 8 is correct?

A B
(M | dchinoxygen rich In digested food
(2) rich in oxygen _ poor in digested focd
{3) poor In oxygen rich in digestsd food
{4) poor in oxygen poor in digesiad food o
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24. Shantl placed the following set up below In her room at the temperature of 27 °C,

]
metal lid
[ r""/ I

—

e
cylinder af cold water
with b cylinder of hot water at 75 °C
Kev;
D — inner surface of metaltid F - inner surface of cylinder
E —outer surface of metal lid G, H — outer surface of cylinder
On which of the following surfaces, D, E, F or G, would Shanti observe water
droplets after a few minutes?
(1) Gonly

(2) Dand Gonly
(3) D, GandH oniy
(4) E,FandHonly

Sc/P8/CA/ Seckon Al 2017/ Page 18%1 19



25. The diagram below shows the waler cycle.

28,

rain

{

water bodies

clouds

L5

waler vapour

Which of the following is correct?

)

@)
)
{4

Barissa set up two electrical circuits with four fghtbulbs, Q, R, Sand T.

Evaporation oecurs at Condensatlon occurs at
X Z
X Y
Y Z
- = = .

The batteries and bulbs wers in good waorking condition.

g ot

Which of the following correctly shows what she would obssrve?

(1)
(2}
3)
(4

Bulbs that Iit up Buibs that did not light up
Qand S Rand T
Qand R SandT
Q,Rand 8 T
Q,R, SandT none
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27.  Jun Jie wanted to investigate if the amangement of the bulbs in a Gircuit affects thelr
brightness. He set up four circuits, A, B, C and D, as shown In the diagrams below,

1]+ 1]

circuit A cireuit B

circuit C ; circult D

Which two circuits should he use in his investigation to ensure a fair test?

(1) AendB
(2) AandC
(3) AandD
{4 BandD

Sc/ P51 CAT Section AJ2017 [ Page 18l 19



28. Samuel made g circult card, He tested his circuit cand with a cireuit tester.
The rasulis of his test ame shown below.

Clips tested Did the bulb in the clrouit light up?
Pand Q@ No
QandR Yes
Fland 8 Yes
Pand T Yes

Which of the following shows the correct connection on Samuel’s card?

{1) (2

(3) 4

End of Section A
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Continuz! Asgessment - 2017

Sclence
Primary 5 .
Name : ( )
Class:Pr.5( ) LUy i
Date : 22 August 2017
Time : 1 h 45 min Section B -
Sclence Teacher :
Total
Parent's Signature: - 100

Soction B (44 marks)
For questions 29 to 41, write your answers in the spaces providad.

2¢9. The statements below describe the different stages In the process of fertilisatlon of the
numan female reproduction system. ’

A: The nucleus of the sperm fusss with the nucleus of the egg.
B: Many sperms reach the egg.
C: The ferlilized egg starts to divide.

D: Ons sperm enters the eyg successiully.

a) Arrange the above stages of feriilisation in the comrect order in the boxes befow. [ 1]

L

5) Study the diagram below.
Before surgery

Part of the tubes at positions P and Q were removed in a female body during a surgery.
Fertllisation of the eggs could not take place naturally in the female body afier this
surgery. Explaln why this is so. bis)
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30. Raymond hung three identical bar magnets above a tray of identical steel pins.
His observation is shown below,

=

magnet

tray of
L—&’HM’MMEW sleel pins

a) Based on his observation, state how the magnetic attraction of a magnet is affected by
its distance from the pins. [1]

b) Raymond lowered a ring magneton to a tray of steel pins as shown in diagram 1.
Diagram 2 shows the bottom view of the ring magnet.

ring magnet
steel pins @/

Diagram 1 s -Diagram 2 -

A total of 18 pins were atiracted to the bottom of the magnet at positions A, B and C.
Raymond’s friends, Alan and Muthu, predicted the number of pins attracted at the three
positions. Their predictions are shown below.

Alan’s prediction: Muthu's prediction:
Positions Al BJ|C Positions Al B|C
Number of pins Number of pins
attracted . 0 9 attracted 6 6 4

Whose prediclion, Alan’s or Muthu's, is most likely to be correct?

Give a reasan for your answer. [1]

SCORE |
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¢} Raymond placsd two ring magnets, P and Q, through a plastic pole as shown in the
diagram below.

plastic

magnet Q

B 7 distance D

magnet P———

Raymond observed that magnet Q was suspended in the air.
Explain why magnet Q was not touching magnet P. 1}

d) Raymond pushed magnet Q (owards magnet P. He found that he nesded: i push
harder as distance D dacreased. Explain why. (1]

e) Raymond measured the distance D betwesn magnet P and Q. Then, he placed
magnet S on top of magnet Q.

Magnet Q was still suspended in the air as shown in the diagram below.

magnet P

Ha observed that distance D decreased when magnet S was placed on fop of magnet
Q. Explain his observations. [1]

SCORE
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31.  Brian canrled oul an experiment on rod P using the sat-up shown below,
He measured distance x, at the middle of the rod after adding each mass.

o e ke S - § pOSiﬂOn Ofmd
- before adding mass

mass

L 14 i i

He repeated the experiment using rods Q and R of different materials but the same
length. His resulis are shown below,

25 - -
_. R
20 -
distance i R
x (mm) : . <~ —_— g
15 ~-
T ——
i ‘,_4’ 7*&’
10 —k” -
P /
‘_" el .
1 Q
. —=
0 - ey _-:—:.——:?——-———?-——a—-— » mass (9)
0 100 200 300 400 500
a) Whal wass distance x before any mass was added to the rods? _ . [1}

b) Give a reason why Brian was not able to obtain a reading for rod P when the mass
hung was more than 400 g. [1]

c) Based on his results, which rod, Q or R, is more suitable for making chopsticks?
Explain your answer. [1]

SCORE

Sc/PSICA/SactionB /2017 { Page 4ol 18




32. Jemy sst up a light source and a light senser to count the numbsr of rubber balls going
through a hole as shown,

light sensor connected io & countar

Jerry threw a few Identical balls one at a time, and recorded the following resulis,
A

amount of light
délected by sencsor
(units)

-

timo (units)

a) Explain how Jerry could count the number of bails going through the hole using the
sel-up. , , _ [2]

b) Based on the above resuits, how many balls went fhrough the hole? 1]

c) Based on the above results, did all the balls go through the hole at the same speed?
Explain your answer. [1]

SCORE
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33. Matthew conducted an experiment using the set-up shown below.,

beaker of water

Bunsen
burner

He recorded the lime taken for the water to boil when different materials, X, Y and Z,
were placed below the beaker of water in the table below. The pieces of materials are
of the same thickness and size. Beakers P, Q and R are identical beakers and the
materials were heated with identical heat sources from below.

Amount of water in Time taken for the water to

Material | Boaker the beaker (mi) start boiling (min)
X i 100 12
Q 200 18
2 R- 300 10

a) Based on his results, can you conclude which material, X, Y or Z, is the poorest

conductor of heat? Explain why. [2]
SCORE
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b} Meatihew wanted to conduct another experiment o find out if the ares of contsct
between the metal piate and the beaker would affect the amount of haat conducted o
the water. He heated identical beskers with the same amount of water of difforent
temperatures with identical heat sourcss.

The diagram below ghows the sat-ups at the start of the expariment.

|

basker A I

beaker 8
| {water at 40°C)

His experiment was not a falr tost.
Suggest two changes fo hig set-up eo that his experiment would be 2 fair one. [2]

Suggestion (1)

Suggestion (2):

SCORE
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34. The dlagram below shows part of an ak'sacamiabbodmsdhahmg.ﬂmamws
indicate the dfrecﬁonofnmvamentofgasasSanthoandfrom the alr sac.

a) What could gases S and T be? [2]
S:

T

The diagram below shows a human respiratory system.,

. windpipe

air sacs

In the lungs, the air tubes branch Into tiny tubes that end in-air sacs with lots of blood
vessels,

b) Expiain how having so many of these blood vessels help more gas S io be absorbed
into the blood. [1]

SCORE
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¢) John made a iung modsi as shown below.

What change would you abservs in the balloons when the rubber sheet is pufled
downwards gently? Explain your obseryation. (2]

35, The lable below shows ihe pulsé rate and breathing rate of Ali whan he was at rast and
when he was running.

Pulsa Rate Breathing Rate
vit
Activithes {heartbeats par min) (broaths per min)
resling 70 i2
runhing 150 32

a) Give a reason why Ali's breathing rate was higher when he was running quickly. [1]

b) Based on the data above, expfain why an Increased pulse rate in Ali would result in
more energy produced when he Is running quickly. {1i

c) Would Al’'s pulse rate be higher or lower when he was walking as compared io when
he was running quickly? Give a reason for your answer, [1]

SCORE
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38. Meifen mndudedanexpetmﬂwﬁhtmslmﬂarpotamﬁm. She removed the fruits
and flowers on one of the plants.

Meifen observed that potatoes on the plant with fruits and flowers romoved were bigger
compared to the other piant.

Explain why bigger potatoes were produced, (2]

SCORE
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37. The diagram below shows a single-cslled organism X,

8

a} Organism X is abls to make food. Name the part of the plani cell that enabias organism
X in 40 s0. i1}

Organism X has a ca#p and a nucleus at its base. A sclenlist wanied io find oul the
function of the nuck:us in organism X. He cut organism X Into two halves ag shown.

cap dried up
o~ - B
ﬂ%ﬁ

cap

new cap formed

nucleus

After a few days, the upper half of the organism with the cap drisd up.
The lower half continued to grow to form 2 new cap.

b) Based on this obsarvation, what can the sclentlst conciude about the function of the
nuclaus? [11]

¢) Besides replacing damaged and dead cslls, give one other reason why our body needs
fo produce new cells, 1]

SCORE
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38.  The dlagrams below show two flowers from diffarent plants, A and B,

white pefal

anther

ovary

stylo

5 -
7

bright pink
petal

style

nectar
droplets

Flower of plant B

a) Which of the flowers is more likely 1o be pollinated by insecis?
Glve two reasons for your answer.

The flower of plant

Reasen 1:

is more likely to be pollinated by insects,

(2]

Reason 2:

Sc/ P8/ CAJSection B 12017 ) Page 12,0f 18
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b} The diagram bslow shows a fruit,

Which plant, A or B, does this fruit belong to? BExplain vour answer. [1]

¢} The diagram below shows a bird on another plant, Y. The bird eats the fnuts of plant Y
and passes out the undlgested seeds in lts droppings:

Gther than dispersing the seeds far away from the parani plant, state another
advantage of this method of seed dispersal for plant Y. [1]

SCORE
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39. Labeena tied her wet hair In a bun as shown in diagram 1 below. Her mother told her
to let her hair down as shown In diagram 2,

bun

Diagram 1 Diagram 2

a) Her mother told her that her hair would dry faster if she lats it down. Why is this s0?
Explain your answer clearly. [1]

D) Labesna noticed that her halr dried even faster when she sat under a spinning fan.

Explain why this is so, {1])

SCORE
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40, Bala had a bimetaliic strip, Y, made from two different metals. When heated, strip Y

bent In e direction shown below. When the heated strip was cooled to room
temperaturs, it straightened and retumed to its original shaps.

heated
ﬂ
stipY g
(at room temperature) ' coated strip Y (hot)

Bala used strip Y to make the lamp shown in Figurs 1. Pin P is an iron pin aiiached to
the lamp filament. It Is in contact with strip Y and Is fixed. He connected thetamptoa

circuit as shown in Figure 2.

strip Y

When Bala closed swilch 8, he observed that the lamp filament started to glow,

Figure 1 L Flgure 2

After a few seconds, strip Y becams hot and the famp turned off even though switch S

was closed. The diagram below shows the lamp when it did not light up.

pin P

strip Y

a} Explain why the famp cid not light up when strip Y became hot.

[1]

b} A few seconds later, Bata observed that the lamp turned on again.
Explain why the lamp lit up again.

(2]

SCORE

8¢/ PS ! CAJSectlon B/2017 /Page 15 of 18




a1,

b}

Setby :

Brenda placed a beaker of sea water on top of a bumer and prepared the sef-up as
shown balow.

white mlst(% water droplet
f.""\}
Ao a.."Tﬁ
bolling e ‘-
seawater | =35 - ~ clean water

flam.

Brenda observed some white mist formed above the boiling water and water droplets
formed on the glass plate.

- Whatis the state of matter of the white mist? [1]

Explain how the waler droplets on the underside of the glass plate were formed. [2]

Brenda raplaced the glass plate with a metal plate and repeated her experiment.

She observed that more clean water was collscled in the container when she heated
the same amount of sea water for the same duration.
Explain her cbservation. [1]

End of Section B

L

Ms Parvin, Mrs Navin, Mrs Chiew

Vetted by: PS5 Science teachers
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Nams.

{ ) Class:

PS5 Science Continual Assessment Examination Answer Tempiate — 2817

No.

Acceptable Answers

29 (a)

Concepl: Process of feriilization
B D A . C

1 3

(b)

Concept: Female reproduciive organs: ovary, womb and vagina. The ovaries
produce oggs wh:‘ch_are the female reproductive cells,

The sperm could not meei reach the egg.

30 (a)

Concept: Magnetic force increases when the magnets are closer to e magneltic
obfecis.

Requirement of the question: Relationship between the magrnelic aifractlon of a
magnef and the distance from the pins.
As the distance between the magnet and the pins ___increases the

atiraction of the magnet _. _ decreases

(b)

Concepi: Pole of 2 ring magnet has the same magnstic sirengih
1 OGN

Muthu | Positions A, B and C are alionthe  pole of the ring
i T ) A
where the magnetic strengthis the __ same |

(©

Concepi: Like poles of magnets repe.

Magnet _ Q@  repels magnet P asthe like poles of both
magnets are __facing each other.

Common mistake: Q and P are ilke poles. {Wrong).

Explanation: A magnet cannot have only one pole. A magnet must have a North
and a South pofe.

(d)

Concept: Magnetic forces Increases when the magnels are close to each other.

The magnetic force of repulsion __increased  .asthe

magnets moved closer to each other——————desseased-

{e)

Concepi: Like poles of ragneis repel.

Magnet S _repelled magnet_ Q@ | pushing magnet Q
closerto magnet ___ P

31 (a)

Concept: Grapn reading skafls
Requirement of the question: For both lines, P & R, if they are lengthened, both
fines meet at the point Omm or 0g.

1

9 cm/ mm

(b)

Concept; Test for flexibility of materisl




Rod P broke

{c)

Concept: An inflexible object foes not bend easily.

Requirement of the Question: Comparison between the properties of rod Q and
R must be made using the data in the graph.

Rod Q .ltbent less than rod R .

32 (a)

Concept: Light is blocked by an_opaqye material.

First point: Lightis ___ blocked by the ball. / Light cannot pass
through the ball.

Second point: _° / No light will be detected by the light sensor

(b)

Concept: When the ball is going through the hols, the light serfsor cannot detect
the fight. Look at the graph and count the number of intervals that shows a 0
amount of light detected by the sensor.

4

(c)

Concept: Graph readinty skills based on data provided.

No The balltook different amount of time to go
through the hole. / The ball blocked the light for different amount of time.

33 {a)

Concept: A poor conductor of heat gains end loses heat slower,
Requirement of the question: Pupils needs to state that X and Y might be the
poorest conductor of heat and explain why. The more water we have in the
beaker, the more time itV take for the water in the beaker o bofl.

No . The amount of water in each of the beakers and the time taken for
the water in each beaker to start boiling were defferent  Thys,
X __and__Y__ could be'the _ poorest conductor of
heat '
OR

Yes, If the same amount of water was powed Into the beakers placed on X and Y, the
watarinmebeakarphqedabovexwmﬂdlakeahngertlmambol Thus, material X is
the poorest conductor of heat.

(b)

Concept: Fair Test '
Requirement of the question: The material must be mentioned for one of the
suggestions,

He should use the same material for both metal plates.
He should use water of the same temperature in both

beakers.

34 (a)

Concept: Identify gases entering and exiling the blood stream in a ling.




S: oxygen

2 carbon dioxide

(b)

Concept: Functions of tiny air sacs found in the air lubes,
Requirement of the question: Pupils must siate the origin of ihe exposed surface

area.

It increases the surface area in contact between the air sea

and the blood vesse . Thus, the amount of gas S absorbed
into the blood is increased.

()

Concaptl: Lung Machine
Requirement of the question: Pupils mus! state
1. Observation of the balloon from the diagram.
2. State the sourca of air.
3. Check if the 3ir enter or'leave the ballocn.
4. Location where the air entered the ballucn.

The balloons are  inflated . Air ffom the surrounding
entered the balloons through the opening of the glass iubing.

35(a)

Concept: When we exercise, our breathing rate increases so fhat we can take in
more oxygen.

Requirement of the question: Pupils will need to compare the breathing rate
when All fs resting.

He needsto take in __ More oxygen to preduce more ensrgy when
he was running quickly.

(b)

Concept: Increased pulse rate results in more digested food and oxygsn bsing
transported in the blood to various parts of the body.

Requirermnent of the question: Pupils will need to compare the pulse rate when Ali
is resting. :

More _ digested food and oxygen are transported to
other part of the body

(c)

Concepl: Our pulse rates are lower when we do Jess vigorous exercise and we
need less energy, as compared to when we do Vigorous exercise.
Requirement of the question: Comparison must be made using Ali's pulse rale
when he was walking compared to when he was running.

hower . The body would require  fess _enerqy for
the walk.




36 Concepl: Food made by the leaves is transported from leaves to the other parts
of the piant.
Regquirement of the question: Comparison must be made to when the fruits and
flowers on one of the plants are not removed.
Food made in the leaves will not be __ transport

more
to the fruits and flowers, food will then be
transported to the potato instead. Thus, causing it to
increase in size.
37 (a) | Concept: Function of parts of the cell
chloroplast
(b) | Concept: Function of perts of the cell
The nucleus is able to repair the damaged cell.
(c) | Concept: Purpose of producing new cells. T

Toenableusto __ 9row

38 (a) | Concept: Factors that affect pollinators
Requirement of the question: Pupils must compare the colours of the flowers in
terms of brightness and also state the purpose of nectar droplets.
The flower of plant _B__is more likely to be pollinated by insects.
Reason 1: Its petals are Hiwse brightly-coloured / 1707
altractively coloured / brighter.
Reason 2: The flower of plant B has nectar droplets that will

attract the insect o the Hlower.
(b) | Concept: Flower to iruit

Requirement of the question: Pupils must state the Simitarity between the seeds
in the fruit and the ovules in the flower of plant A.

A . This fruit has _Many seeds and the flower of
plant A also has Mmany ovules srranged in a similar way as the seeds

(c)

Concept: Nutrlents are needed for young plants to grow wejl,
The bird's droppings will provide nutrents for the
seedlings

* The sseds do not need nutrients from the droppings to germinale.




39 (a)

Concepi: Rate of evaporation is affected by the exposed surface area of waler
Requirement of the question: Pupils nsed to compare the exposed surface area
of the wet hair when the wet hair is ifed up and when the wet hair is nof tied.

The exposed surface area of the wet hair

greater and the waler will evaporate faster /

the rate of evaporation will be higher.

b)

Concept: Rate of evaporation is affected by the pres“?é:: e\of wind

)
The wind from the spinning fan @ the waler on her wet
hair s to evaporate

40 (a)

Concepf: Open & clossad cir¢uit based on bimetailic strip.

Requirement of tha question: Pupils must state their observation from the
diagram.

; Y opened
Strip ____ bent away frem pin P, Hence, the circuit was straightened.

(b)

Concepl: Effects of malerials which are good conductors of heal in an elaciical
circuil.

Strip _Y__ cooled down to room temperature and __ Siraightened
lttouched ____ pin P and the circuit was closed




41 (@) | Concept: White mist is a cloud of water droplels formed in the air and the waler
droplets can be seen/ observed.

Water in gaseous stgte (stoam or water vapouwr) cannot be seen,

{b) | Concepl: Formation of water droplels through evaporation and condensation.
Regquirement of the question: 1. Source of the steam / water vapowr
2. Temperature difference
3. Surface of contact
4. Heal gain or loss
5. Process of condensation.
Common mistake: The warm water vapour from the surounding air condensed,
{(Wrong source)
The boiling seawater evaparated into white rist.
{When the seawaler is boiling, it does not evaporaie.)
The whita mist lost heat and condensed,
(Water droplets are already in liquid state.)

The sea water in the begker _gained heat, boiled 404 became

steam . The steam touched the
cooler _ surface of the glass plate, lost heat (%2)
and . __condensed into tiny water droplets.

* Water boils at its boiting point of 100°C and becomes steam.
Waler evaporales at any lemperature below the boiting point and becomes waler Yapour.

When waler changes from liquid state to gaseous state st the bolling point, we do NOT
say that the walsr has evaporafed.

(e) | Concept: Conductors of heat :
Requirement of the question: Pupils have to campare whether metal or

glass is a belter conductor of heat. Then pupils will have to explain their
choice

More water will be collected. As metalisa  better conductor of heat,

the steam to lose heat ___faster 1o the metal plate and more steam
condensed on the metal plate.

* The metal plate is of the same temperature as the giass plate. Both of them should be
atroom temperature af the start of the expariment. it would fesl cooler as it Is a better
oonductorofheatandtteoudeonduc:heatawayfrmnwskinmemlddy. Being a
better conductor of heat, it would gain heat more quickly from the steam and It1l be holter
then the glass plate after a while. Howem.lhehealga&wdwilalwbelostquiddytome
surrounding air, 50 more steam could condense on it.
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